Al Of &8 AH & B Al A
20168 & =04 LBHSIH EXNZE
2M: EXNEE DN
M EXNEHE =5
Sl DABEZO XHYH (B9 ®R)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
EXNZS D 2,431,813 2,046,019 385,794
= 1,991,837
< 439,976
EXNEE &= 2,379,050 1,993,256 385,794
= 1,991,837
< 387,213
DAHGE=ES NHAH 1,207,507 959,932 247,575
= 1,081,837
< 125,670
NEHEA AFS 1,040,000 900,000 140,000
= 1,040,000
308 XXIEHH SOl A 1,040,000 890,000 150,000
= 1,040,000
01 AXHHILEES 1,040,000 890,000 150,000
OXI & THZ= AFAHY 1,040,000
= 1,040,000
ANEHR 2 M M 6,750 6,600 150
201 £B-2dH| 6,750 6,600 150
01 At 22/l 6,750 6,600 150
OXNHgRaa I A 6,750
~EQENFPALETHEY MK
15,000& 1502 2,250
- HESAXIL 42XE XAt
15,000& 1002 1,500
~NNEY MRDSE MI 15,0008 +70% 1,050
- X &M OIL 2K 15,000& 702 1,050
- XAEHEZA MATE 15,000& 605 900
EXNHE HRFA 11,200 11,200 0
201 -4 10,000 10,000 0
01 At 221l 10,000 10,000 0
OEXNHEEZFHR=A 10,000
203 ¥ S =&l 1,200 1,200 0
03 AIHZ=XH 2 =AH| 1,200 1,200 0
OEXNEEBYRFH 1,200
AEze|ge = 41,837 42,132 A 295
= 41,837
308 XX EHH SOl A 41,837 42,132 A 295
= 41,837
01 HIXNHHBNEES 41,837 42,132 A 295
OXHEoIA MUlA XI& 41,837
= 41,837
ALE=SZEHH RAE= 6,320 0 6,320
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2H EXNELD
HH: EXNFE =5

o9l ZAEE a2 (e9:a8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

KGtAIE =S Mot AFY 910,000 700,000 210,000
= 910,000

403 UHXSHHSA=0l& 910,000 700,000 210,000
= 910,000

01 X SHHMA=E L 910,000 700,000 210,000
OXIGIAIE 2 & &taHALY 910,000
= 910,000

oSN FE2F 22 95,839 50,839 45,000

201 -4l 89,839 50,839 39,000

01 At 22l 39,000 0 39,000
OBAMILEHE URERE Arcgis 33,000
O=XXNEHEEZ CAD 6,000

02 =224l 50,839 50,839 0
O3NSUHFESSANLE RANES 50,839

405 TtabF S| 6,000 0 6,000

01 AL EFH S 6,000 0 6,000
o323 HEEX +2 6,000

HE2LAZH(EXNZEE D) 52,763 52,763 0

Jl=&dl 52,763 52,763 0

JlE2ztl 52,763 52,763 0

201 Let2d] 16,853 16,853 0

01 At 2teltl 16,853 16,853 0
OJle=+=EHl 6,878
OJlEs gl 9,975

202 oddl 35,910 35,910 0

01 =L o4 1l 35,910 35,910 0
OJl=0tl 35,910




